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Do not accept less than the age of six —Hapn RS now 92 7PRa2

OVERVIEW
27 instructed N?°w 12 PXMW 27 not to accept a student who is younger than six years
of age. Moo reconciles this with a seemingly contradictory 7Iwn.

Moo responds to an anticipated difficulty:
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And this which the mwn teaches in MaR noon, at five years old a child should be
taught wnin, that is only if he is completely healthy -

mooin offers support to his view:
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As XI'vUp 21 states in n121n> nNoon, ‘one who teaches his son when he is less than

six years old, he may run after him, but he will not reach him. The X3 continues -
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And some say that his friends run after him, but they cannot reach him; the
X723 concludes; ‘and both these statements are true, he is weak (like the first

interpretation) and he is learned’ (like the 7"x). The X3 offers an alternate view -
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And if you want I can say, this (that he will be sick) is regarding a weak child,
and this (the 7"X) is by a healthy child.

SUMMARY
A child who is 135 ®72 can begin learning at five years old.

THINKING IT OVER
Perhaps wnr 12 in the 71wn means when he completed his five years and is entering
his sixth year and ww 325 here means when he is entering his sixth year, so there is

! This seemingly contradicts our X7n3 which requires the child be at least six years old (not five).
2 In the previous 725 7"7 '010 we were told that a weak child begins learning at seven years old, and a healthy child
(X°12) at six years old, however a »3% X*72 can begin even at five years old.
3 See >"wM there that this means the father will attempt to revive him and make him healthy (11% 77), but he will not
be successful (1373 11°X1) for he is in danger of dying because of his excessive weakness.
4 He is too advanced so they cannot keep up with him.
3> This view reconciles that both the first 1107 and the second are true by the same child, he is weak but smart.
6 The X=X NMy2°X) maintains that the two previous statements are discussing two different types of children.
7 The 'S=X ny2’XY' in the X there substantiates what mooIn says here that by a [>137] X™M3, he can begin even
younger than six years old.
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no contradiction at all!®

8 See o»n nn.
2

TosfosInEnglish.com



